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1 S 4 FEFNRMAHEVRKERFRIRMARICOLNT, 28 (22 B (0K).
RITREBNAH o1=. BERMEEZRE. 24 B (B) [CREXFF SN D FE

2 FERIEATHR

B 4 3459,484 59 FFM | BIEELL+11E2 506 BM  (+3.7%)
FET4Y 18018 9,154 75 3 M | BI4ERELL+4 184,236 56 FH  (+2.5%)
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EHIE TR & SR AHHEEEDEM,
BoE, BRFERERE CHREERFICRDEEDEM,
FFJIHT AL BFRHFERERE CHEEREMRFITRHIEEDEM,

<BE>TEEHERS

8 ) R 5
X448 i X {448 i
29 2,972,256 FM | +1.7% | 15893 21T FMH | Al.2%
30 4FFE 6,010,190 FM | +102.2% | 21,062,930 FH | +32.5%
R TEE 3,878, 718 FM | A35.5% | 16,981,706 FH | A19.4%
R2 4 3,160,185 FM | A18.5% | 16,414 543 FF |  A3.3%
R34 3,369, 780 FM | +6.6% | 17,649 177 FMH | +7.5%
R4 % 3,494,849 FM |  +3.7% | 18,091,543 FF |  +2.5%
3 T4 FEERERFAI T
8] 5 1,380 M | BIEEL  A24,287 FH  (A94.6%)
L) 0FM | BIEEEL +0FM  (EEAEL)
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O & (B FH. %)
GilE= N féa 2 i”; 4R e
A B C(A-B) D(C/B)
BIRR 3,494,849 3,369,789 125,060 3.7
Othfr 5 (B FH. %)
G2 . f;”; ;i”; 48 e
A B C(A-B) D(C/B)
NI 1,922,780 1,890,114 32,666 1.7
a8t 1,930,808 1,897,153 33,655 1.8
FHET 2,061,185 2,025,118 36,067 1.8
J\F&ET™h 1,020,120 1,005,015 15,105 15
HiEE™ 730,311 712,455 17,856 2.5
g 1,119,140 1,118,769 371 0.0
Kimth 1,737,771 1,680,527 57,244 3.4
F¥mH 687,842 659,059 28,783 4.4
MEHR™ 1,226,424 1,174,609 51,815 4.4
s ] 1,641,054 1,637,323 3,731 0.2
BRT 464,515 448,023 16,492 3.7
m &t 14,541,950 14,248,165 293,785 2.1
i=1:) 479,772 416,421 63,351 15.2
AT & RET 623,553 538,065 85,488 15.9
FARITET 188,196 173,149 15,047 8.7
HE 0 T 215,177 206,284 8,893 4.3
A FHT 514,023 532,615 A 18,592 A 35
RAHET 315,757 320,553 A 4796 A 15
N 171,963 168,761 3,202 1.9
:Bd:) 343,670 348,250 A 4,580 A13
ZrfT 697,482 696,914 568 0.1
mr &t 3,549,593 3,401,012 148,581 4.4
i MT &t 18,091,543 17,649,177 442,366 25
(%) SHAFE FIRAHREE®BUE (B - FHHFM. %)
AEE SEE 18R 1R
£EE 1,113,143 1,074,559 38,584 3.6
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